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H16.11.18 H17.3.15
* kg cm BCS

44.3 5.5 4.3 3.8 8.4 4.7 2.7 1.7 2.4 2.9 1.9 1.8 0.3

37.3 4.4 4.3 6.0 5.8 4.5 2.6 0.5 2.4 2.6 2.3 1.9 0.2
(2005/01/27) _ (2005/02/14) (2005/03/02) (2005/01/27)  (2005/02/14)  (2005/03/02)

=<10* /a1 500 1000 644 =+ 39 655 =106 602 =+ 63 649 =+ 69 585 71 656 == 113

/pl 4000 1 2 6133 =+ 1784 6200 =*+=1696 5917 = 1522 5583 = 1102 5767 =631 5350 =+ 831

% 0 2 27 =15 40 =24 27 =16 18 + 08 20 +09 20 =15

% 15 45 293 =738 358 =104 257 =69 2712 =77 217 x=57 155 =76

% 2 20 47 =20 57 x£25 6.7 &= 20 33 =26 58 +£31 65 =+ 33

% 0 2 00 =+ 00 0.0 +00 0.0 =00 0.0 += 00 0.0 +00 02 +=04
% 45 75 55.0 = 7.7 478 +=12.0 617 *+ 84 62.8 =+ 8.2 678 *82 732 *= 101

% 2 7 83 £ 29 6.7 =12 33 =20 48 =+ 2.6 27 =08 27 =18

% 24 46 361 = 21 386 74 348 =30 365 =+ 32 332 *36 379 =61

g/dl 8 15 128 = 0.7 121 =10 121 =09 129 =13 116 =12 113 =09

fl 40 60 56.2 =+ 39 59.0 +33 580 =+ 2.2 565 =+ 45 56.8 +3.9 578 + 42

pg 11 17 199 + 12 188 +19 202 +=138 199 + 16 200 *+=13 176 =27

g/dl 30 36 354 =10 320 *=36 347 £ 24 353 =08 351 21 304 =44

g/dl 6.2 82 71 =03 6.9 =03 68 =05 71 =05 68 =04 66 *=03

g/dl 28 39 36 =02 35 %02 34 =03 36 =03 35 %03 34 =02

g/dl 29 49 35 =04 34 03 34 =04 35 =05 34 =04 33 =05

06 13 11 =01 10 =01 10 =01 10 =02 10 x=0.2 10 =02

ALT(GPT) [V] 69 353 113 + 24 113 +28 133 =+ 39 113 £ 22 118 £20 142 + 38
AST(GOT) 1V] 453 110 308 + 48 372 +29 398 =35 530 =+ 123 437 +96 512 +=94
1V] 14.4 107 307 *+= 644 150 =266 87 =+ 116 250 =+ 339 197 +£253 195 =+ 296
Yy -GTP U 98 514 252 + 49 258 41 245 =40 287 =72 282 97 278 =+ 10.6
U 617 1876 1276 + 238 1306 +104 1275 =+ 156 1748 =+ 199 1428 +193 1453 =+ 169

mg/dl 84 110 103 = 05 112 =05 109 =04 108 = 05 113 %09 112 =07

mg/dl 43 738 51 =10 49 06 56 =08 52 =05 6.1 0.2 54 =05

Ca/IP 2 21 =04 23 =03 20 =03 21 =03 18 x=01 21 =01
mg/dl 01 08 05 =01 05 %01 05 =01 04 =01 05 =00 04 =01

mg/dl 621 192 107 + 15 101 +14 100 =+ 12 116 =+ 22 104 +23 99 =+ 16

mg/dl 78 246 107 £+ 1.9 135 =19 107 +=19 97 += 10 115 +23 95 +22

mg/dl 06 1.8 15 =02 17 +0.2 14 +02 16 += 01 17 +0.2 14 =01

ig/dl 02 15 14 + 05 14 +03 16 +04 13 + 02 16 +03 13 +03




(2005/01/27)  (2005/02/14)  (2005/03/02)  (2005/01/27) (2005/02/14) (2005/03/02)

><10* /pl 500 1000 727 =+ 88 704 =89 695 =+ 57 747 =+ 62 702 =70 707 =+ 62
/il 4000 1 2 6167 = 301 6350 =750 6200 = 970 7400 = 1688 7650 1524 7550 = 1078
% 0 2 32 =12 25 +12 20 =+ 18 35 *+ 15 32 +13 15 =+ 10
% 15 45 268 =+ 83 223 =49 233 45 168 =+ 53  19.7 =445 212 +=59
% 2 20 50 = 37 38 +28 65 =+ 54 37 +22 50 +20 32 +29
% 0 2 0.0 =+ 00 0.2 04 02 =+ 04 00 =+ 0.0 00 =+00 07 =+ 08
% 45 75 61.0 = 106 687 +=93 618 =+ 86 737 =43 682 +175 67.7 += 74
% 2 7 40 =+ 29 25 +16 6.2 =+ 18 23 =19 40 =30 58 =+ 2.0
% 24 46 368 =36 361 =45 349 =+ 27 354 += 08 331 +18 331 =31
g/dl 8 15 126 =+ 11 127 =#+=13 122 *+08 120 =04 118 =04 115 =+ 0.9
fl 40 60 50.8 == 37 512 =21 503 =19 475 =31 473 %31 468 =25
pg 11 17 174 +=11 180 =06 175 =+ 0.7 161 += 14 169 +14 163 =+ 1.3
g/dl 30 36 342 +£10 352 +=13 348 =+ 14 339 =13 357 %10 348 +26
g/dl 6.2 82 58 =+ 03 57 +02 54 =+ 0.1 55 =+ 0.2 54 +0.2 53 =+ 04
g/dl 28 39 34 +02 35 =01 35 =+ 0.2 32 + 01 32 +02 31 +02
g/dl 29 49 24 02 22 +03 20 +03 23 + 03 22 402 22 +02
06 13 14 =+ 01 16 =03 18 =+ 04 14 =+ 02 15 =01 14 %01
ALT(GPT) IU 69 353 152 =+ 82 143 =70 157 =+ 74 143 =52 160 =76 155 =+ 83
AST(GOT) U 453 110 358 = 149 342 =154 355 =+ 98 333 =99 378 %115 342 =108
U 144 107 455 =+ 557 218 +229 358 = 236 93 =4 112 460 =328 518 =+ 618
v-GTP Iy 98 514 213 += 42 222 +53 207 *+56 203 + 26 213 +27 217 =+ 34
U 617 1876 1845 =+ 308 1925 =266 1952 =+ 166 1797 == 724 1792 =472 1597 = 422
mg/dl 84 11.0 123 #+= 10 123 07 125 =+ 05 118 =09 124 02 122 + 07
mg/dl 43 178 86 =+ 07 83 =+038 75 + 08 84 =+ 07 77 406 71 +11
ca/IP 2 14 =+ 01 15 =01 17 %02 14 =+ 02 16 =01 18 +03
mg/dl 01 08 04 =+ 0.0 05 =+0.1 04 =01 04 =00 04 =+01 04 =+0.1
mg/dl 62.1 192 119 = 14 112 =20 115 =+ 15 131 =+ 26 131 =27 132 =+ 29
mag/dl 78 246 6.7 = 20 55 =038 6.2 =+ 18 57 + 16 57 +10 60 =15
mg/dl 06 1.8 14 %01 15 0.1 14 %01 13 %= 01 14 %01 13 %01
pig/dl 02 15 19 +07 15 +03 15 + 07 13 + 03 19 +04 15 + 05
(0.56)
1)2)3)
1) (1995) 12:1-8
2) (1998) 27:12-15

3) (1991) 2:23-26



